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INSTRUCTIONS TO THE CANDIDATES ‘ :
The sealed Question Booklet containing 125 questions and with O.M.R. Answer Sheet is inserted into
the Question Paper Booklet. Essay Question Paper Booklet also insertethinto the polythene bag.
Open the question paper seal carefully and fill up the general informatien.férm in OMR Answer
Sheet. If you fail to fill up the details in the form of alphabet and si§ns.as instructed, you will be
personally responsible for consequences arising during scoring.of your answer sheet.
Enter the Question Paper Booklet SI. No. in the OMR Ans@heet.
During the Examination :

(a) Read each question carefully. &*
w questions, its English version

(b) In case of any ambiguity in translation of an
shall be treated as final.

(c) Select the correct answer out of the four

(d) Completely darken/shade the relevant
Sheet. For Example, in a question pager
then darken the Sl. No. 3 of Quest
ball point pen as follows.

20. (1) (@) (Only example)
Rough work should be done only®nthe blank space provided in the Question Booklet. Rough
ork should not be done on the O.M.R. Answer Sheet.
more than one oval is datkéned for a given question, such answer is treated as wrong and
k will be given, See'the example in OMR Answer Sheet.
i D:25 marks for each wrong answer option) is in the Evaluation
it choices only. : ;
Room Invigilator/Supervisor should sign in the OMR Sheet at specified
s to put left hand thumb impression on OMR Sheet.
Each of the candidate is given carbonless O.M.R. Sheet with original OMR Sheet. Candidate

should return the original 0.M.R. Answer Sheet to the Room Invigilator and retain carbonless
copy, of the same with him after the examination.

given under each Question.

gainst Question No. in the OMR Answer
. No. 3is correct answer for Question No. 20,
. 20 of OMR Answer Sheet using blue/black

- Electronic gadgets are not allowed inside the examination hall.

If a candidate is found committing malpractice, such a candidate shall not be considered for
selection and action will be taken against such candidate as per rules. :

INSTRUCTIONS TO FILL UP THE O.M.R. SHEET

There Is only one correct answer for each question.

All entries in the oval must be made with BLUE or BLACK ball point pen only. Do not try to alter the entry.
If found that use of Eraser, White fluid, the Answer Sheet not to considered for Evaluation and rejected from
selection process. . .

Oval should be darkened completely so that the numeral inside the oval is not visible.

Do not make any stray marks on the OMR Answer Sheet.

There is a carbonless Answer Sheet. Thére is no need to shade the second copy separately.
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World's first vaccine for Zika virus was developed by

Bharat Biotech, India (2) Biocon, India
(_3') ‘Prr. Reddy’s Labs, Hyderabad (4) Novartis, India
@dﬁéﬁde}ﬁ RPTOR T cfédﬁ‘ﬁ O e:azpddﬁga TRITID
(1) 2903 wodneeds, QoRcdn (2) wo3nBT", Vo@D
(3) . BE W, FToKRT  (4) BeeLFET, QOROIN
The earliest recorded word of Kannada /shila is found in the
(1) Halmidi inscription qef Brahmagiri rock inscription
(3) Nishadi inscription : i (4) Tamatekallu ingcription
IRE BRUEATEO TDRE X DTSRRI JE0Y,
(1) 3B depzRS (2) wRNo A
(3) 2D dmR (4) sRoeIFey SGoTRS

Supermoon occurs when the Sun, Earth
middle

(2) The technical name is the perigee s%‘gy of the Earth-Moon-Sun system
(38) The closest supermoon of the %%q ccurred on shortly before 6 a.m. on
n

Which of the following is not a fact about Super c{& e _
%ﬁon are all in a line, with Moon in the

Nov. 14, 2016 and such clos ot occur until Nov. 25, 2034.
(4) Supermoon appears ab % bigger and 16% brighter than normal moon

F9NT SN RRTT =R S S0Rm00IRY 7

(1) 25, ammﬁdgm&&m O R, ot w3 RN BRI RATT BT
wqda#ogd _

(2) PeD0-don, a’%df‘&w 023~ 2B DOLDT RRBO* BT’ S SH0ST DRI

(3) e33 SO oD 20163 BB0wot 14 23613 6 Hotdod B0 BT
Spoen Tk IBowo® 25, 2034 B30 8RR ©oSE €308 B0, ROWIROPO),

(4) RATTTRT RN, BoBANS 156% BRBEENODN 16% B, 0N TE3RIT

4. Karnataka was the part of the Maurya Empire. Which Mauryan Emperor died in

Shravanbelagola in Hassan District around 298 BCE where he spent last days of
his life as Jain ascetic ?

Chandragupta (2) ‘Samudragupta (3) Vishnugupta (4) Kumaragupta
BIOF L3853 SIPODF MOTI,T NN, BIV0WF T 0IRE FOBREF ToRSEOTID
BReardPnevad, 3.:;_ ZRIOD C:airi:ﬁdgt aa;d nfeplylensel) FYO00E, ROBRT 298 1A B
eOBROBI? - _ '
(1) wWormrozm (2) "Bogrmg - (3) &)aigarb"gf (4) BoTRTNT
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5. ldentify the incorrect statement about new Nuclear Power Plants Project of Gol.

(1) Government has approved setting up of ten new Nuclear Power Plants

(2) These will produce an additional 7,000 MW which is more than the combined present
installed capacity of 6,780 MW :

(3) The government has approved a ¥ 70,000 crore quantum leap in India’s nuclear

nergy generation capacity
-Kaiga Nuclear Power Generation Station in Karnataka will have two additional new

plants to be setup -

P02 RFoF O w3235 I8 mwdd adpexsiodd WiNS BO0HYE 5@3@&§d}5&.

(1) =%Fd B THR a:'s’zsa’ as‘& —add —aa;ﬁcn 23[R eOAT

(2) =)t ﬁwga 7 000 MW& m&m@mﬁd& QA 5:@0 evSes md:c;;’sr
6,780 MW&oé aa"‘mlpd
(3) REFrTm) z;md-’r.i w328 38 "aﬁoqﬂ FO8 HI0 323 0,000 Znet3 DR dm_épﬁa’gt

L 4

70 B8 MR MERORISS

=]

EIORREDAT
(4) TFETE §Tw 18 38 eusEm FeognY

6. The Karnataka Fiscal Responsibility Act, 20 uires the state to progressively reduce

total liabilities to less than f GSDP.
(1) 15% (2) 20% \ B 25% (4) 30%

I LB BOFE BPBMOF IO, Z5o0, ConR) BEOeEoTIN 2ty BRBOIRIR),
GSDPo 8,08 35 mm BTN,

(1) 15% (2M20% (3) 25% (4) 30%

nt Ayub Khan offered to release his son, the General's terse

7. When Pakistan's Prési
Vs are all my sons, look after them well”. Which General of India

reply was : “The

are we:quol \ . o) RERY, SR WORLD 830rme nea® ol SBHRD.

Kodandera Madappa Cariappa ssmride & M 34, 2,40,00080, OB JHERFMEDL JOIN esAS.
(2) Kodendera Subayya.Thimayya Des3p JOIN &R, RaE* Hos* R 95387815701 SoeR@ /BOMm0 S0,
(3) Satyawant Mallanna Shrinagesh

(4) Pran Nath Thapar
TERTT e;aqs’é 203008 S5O 0RB) [S0 mﬁdd) WRINGE INEL U503 BTN,

mﬁd@&ﬂdﬁ:mﬁ "“éaécbarﬁ’a “2eR 0dng éar{d@m’dﬁﬁe cﬁddab ai’aaﬁdrae@ém@ J
P03E oInS zsdde:‘dddﬁa o) m@ea:mz?ea 9

(1) ﬁmzﬁodedd}ad"’ mbo.bw

(2) i:aecfodedﬁowoda éa’ig/odo

(3) mgToz* dwsa gemﬁw‘

(4) HF 5 m
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Who is called as the ‘Father of Indian Pre-history’ ?
(1) S.J.S. Mackenzie (2) Capt. Meadows Taylor

(3) J. Coggin Brown W Robert Bruce Foote
‘WR0SE TRTF-DSTIRE LTVIB ' 0TI #dodneg_}zﬁsaﬁssda o35 ?
(1) ox. 8 ox. 3 M3 (2) = DR Lews®
(3) = TN WO ; (4) OOWEFF wWRR HpL
Which of the following bio-fertilizers helps in phosphate solubilisation for growing crops ?
(1) Rhizobium (2) Azotobacter \.(Gf Mycorrhiza (4) Nostoc
VNS 2%53%— riraz%dr{%* CafJenipbyaShATlovert-Tovnaty b founirids i oV ale U]
R 03FTOIRNG 9 , ' §
(1) Sweodbs®  (2) extinemscs” (3) a'%im%t@ (4) TmF
The sector that contributed highest to Karnataka rng-2015-16 was
(1) _Agriculture sector (2) ufacturing sector
Service sector (4)\ Mining and Construction sectors

2015-160¢) 2mor13c GSDPH w8z &

(1) gazmvod ) §rom KUSIE B0
(8) e I 2 t, (4) ReImDE =08 ARF D BOOH

Which of the following is not a@ut GSLV Mark Ill ?
SA

(1) GSLV-MKIII will Iaunc% -19 communication satellite on 5t June 2017
t

(2) GSLV-Mark IlI-D1i -stage vehicle with two solid motor strap-on boosters, a
liquid propellant ¢ tage and a cryogenic upper stage (C25)

(3) A fully indigen 00 percent ‘Naadan’ cryogenic upper stage (CUS) will boost
he launch of V-Mark Il

the GSLV-IIl began in the early 2010s, the flight test was successiul

Developm
on 181" mber 2015, and the first flight with a crew on board would take place
after 20

GSLV SnF |1l 2nirt 890s cdnand soxmosz9 ? |

(1) GSLV -Zne*r Illc3n GSAT-19 oo wa’dﬁ&ﬁaﬁgﬁﬁe TRTT, 201750:30
VT CWRDTIZTS '

(2) GSLV-Mark lll-D128%) £ 1008 BB S5, .00 BN SReE 80e0° Bo8 S0
20030 SeBETE 0D (R25) 203, FHQRNIR, BROOT woRd BRT-HIT DS

(3) wodprar-edeodd 3esm 100 ‘TT" eEBe BoedT Do (A0305F) GSLV-Mark 1113
mmsﬁﬁodﬁi WORRFRIT

(4) - GSLV 3n5°r IS 30 20103 B339, so80zmmon, Boew, Toooks 188 Bowc”,

201589, c3oBa,03RNG ) $3000), 2eD0R0RNS RAGE oot 20183 Re3d
RIS '

aRISTovernnTale b))
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12.

13.

14.

An hagiography is
(1) A bibliography of literature about a saint

‘(:Pn autobiography of a saint
A biography of a saint or venerated person

(4) A series of photography of life of a revered person
2032303030020000

(1) ) RO 2y, 200D W&BT [’)od“,oms

(2) mcﬁa 233 wgﬁag

(3) ww), R3S eim» Brdecd =300 BeRTioY

(4) uu Mo0s5R,8 300 BeSIT Jaaimagr{d 2,003 ROE3

Cretinism is caused due to the deficiency of a

ormone (2) Enzym
(3) Lipids (4) Protgin
38333 VoL B0 2asEc0mN « )
(1) Zedneoe . (
(3) xRy, - Q:a‘mdu'ja’ 5T TR ELIERINLD

Consider the following hlgher educa o%’ﬁsﬁtuttons of Karnataka :
A. Indian Institute of Technolog
B. International Institute of Info ion Technology
C. Horticulture University
D. Agriculture Unwersnty
E. Law University
F. Karnataka Uni
G

Which of these itutions are located in Dharwad District ?

and F only (2) A,B,D, E, FandG only
(3) A,B,C,D)E,FandG W#™A, B, D, E and F only
TR LIV FENT ema:’a’ Mea Noﬁr{dm ZONENRD :

tapiet:Ilove) a'aogﬁ 0%

2030008,00 Rnked S0BRF B

3ReLTOT a:)si T3 e:ocb

ﬁea AL EAIADE OO

a'aairaa?o é:)d AapISles

BOF 38 .:)3 é:r'a ©oD

sec@ecd) e’,ba‘ aacr.gsuab

oﬁﬁs’f il CINTT TCERY, SSRRRS ?

(1) ABCDE&S:Fa’mg (2) A B,D,E, F&53)G =ng

(3 A,B,C,D,E,FRRG (4) A B,D,E 33 F 33

Qmmppm?

KA
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15. Who.is designated as UN messenger of peace ?

16..

Tk

18.

Malala Yousafzai (2) Juan Manuel Santos
(3) Kailash Satyarthi (4) Barack Obama
azjﬁo;:iws 008 BRBTHN cmadcdgt QOIIRRLERDNS 2
(1) Sene oiraeﬁmww (2) = SRoeder 29,03 e
(3) Fwoz* ZRHF (4) 20008 w2

Consider the different rulers of Karnataka and their capitals. Which rulers were known
to have changed their capital frequently ?

Rulers Capitals @
(1) Kadambas " Banavasi O

(2) Rastrakutas Manyakheta
(3) Chalukyas Vatapi or Badami C)
Gangas Talakadu ¢
#mruﬁdaafd DO e Eb&a!ﬂv‘aﬂgt W) e QNI RO, cdns 58
o) cra2.5t;m&)cm:t:»aigt RT3eTTIe W OWVRTIITD ?
BYTIRID TOWERR
(1) s=owdd waﬂm,z;\
(2) cogesy m@{:
(3) wooEdh PR DT

(4) rondd §Q @
Which State is the @fl prone State in India ?

(1) Uttarakhan (2) - Jarkhand

(3) Maharasht Assam
IRTITY, OIS Tovg, €335, T TTERIMOS TN ?
(1) wv2Soodor (2) DFow*
(3) aﬂa&ama;; (4) emz*
Which Indian State has the oldest rock formations in the country ?
(1) Tamil Nadu | (2) Bihar
Karnataka (4) Rajasthan
CIR LIB8ecDd oo, e3w 58,03 smyses WOBOLR), BRodT 9
(1) 0% =@ (2) w=0
(3) sorFeT (4) oowms
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19. Gravitational waves predicted by Einstein's General Theory of Relativity were directly
- detected by

Laser Interferometer Gravitational — Wave Observatory in the USA
(2) CERN, the European Organization for Nuclear Research, Geneva
(3) National Aeronautics and Space Administration (NASA), Washington, USA
(4) Indian Space Research Organisation, Bengaluru

DR, FO MR, AT, AT LAT, SROT, M3 -SRI, BTN TSBRREITD
(1) maﬁ@ﬁ Sedlc? daﬁdm mwd ﬁxbé 35 a%mood:

(2) A.8.80°.0%., 23333 NOEi!DfCﬁ&"C\'b Qi)JdJBEde)E‘ NON e3See

(3) TogycoD mmmﬁ MR OB T T SBES (T.m) O30T D

(4) md@eo:b eoéciaoﬁmetﬁm HJO% a:?orf#mdo $

20. Which of the following statement/s is/are incorrect wﬂhg 'to the emblem given

below ?
0 _ o3 acs<y, SR WORLD &30 1w, hO.

gsronede es @ 3¢ 2 40,0008, 0B F’ﬁ‘ui) JOIN esRAtR8.
Ses3p JOIN esh, ne* Hos® Mol 953878 ToExRH°/LIOM,0 SNA.

The Gandaberunda is the mblem of Karnataka Government.
. Historically it has been the crests and official seals of the Chalukyas to
Wodeyars of Mysore. l‘%

It was used on coing.intheé mints of Vijayanagar Empire.
It was first found as tooPsculpture, Rameshwara Temple, Keladi.

MA only AandBonly (3) A,B,Conly (4) AB,C,D
FIR DRV eROEIRIRITT BO0RS 0IRE Bewd/ N1 ROCWYTONG/F 7

U O m -} :-_'_"E'?_.__"I,_‘I:‘; -‘:;__‘I:{, ‘:_;’-

g8 ST T :

A. é& ﬁodﬁedzod@ I0F €38 K050 L0FZ CROLING.

B. 28330 zaaw# dow ﬁau,q.rat)d ucé’c:cbdsddﬁ £330 €083 02 eﬂaﬁa’ veuiafevinly fazﬁab
WEREDNT.

C. Q%OHING BBRZT BosmSoDY, TEy, ny 2oees facfab WIRERNR).

D. 0o 0aes, d ﬁemocrbcf asaﬁtéow@ BRTED ZroE>.

(1) A=n3g (2) AHB RN (3) A B CBn3 (4 A B,C,D



21. The author of Epigraphia Carnatica was
(1) Suryanath U. Kamath
(8) Theodore Hope

DU RRAD IR EIF QT8 SeTTINDZ)
(1) RRoHFmT® o3n. e
(3) Bo3neRrec” Sneo*

22, Karnataka is the
(1) Sixth, Seventh
A7 Seventh, Fifth
B 385y 430030
Dot SONTS.
(1) =08, O9e
(8) 0¥3e, nTZe

23. Which districts of Karnataka has the |
(1) Bellary
Chikkamagaluru

T LIBH NS z:",e;o:bef) €23

(1) w0 %

(3) aagd)ﬁ#mda

24. The only Indian &

(1) Assam
@ Megha@ Y
RTST FexO ﬁg‘ SYUBIDRIEI 24053 2,002 oot

(1) Saple
(3) oegoeod

25. Anaemia is caused due to low count of
(1) Leucocytes
rythrocytes

O38eR3 L0oLRRTd
(1) onrgeernd
(3) <opeRerned

-8-

largest Indian State

(2) Sixth, Eight :
(4) Eighth, S’
28 ciracs oot mﬁ“‘ méﬁo@j od:od

¢
@:h produces saffron is

(2) S. Srikanta Sastri
enjamin Lewis Rice

(2) . 8308 oy
=
(4) Womaoz* Siotvaliery

largest State in population.

(2) g%o&&dc

§e 3030

posits of iron ore ?
(2) Chitradurga
(4) Bagalkote

Jacﬂ Tlater] e'\)ﬁe T 9

(2) ugzﬂaﬁr
(4) wRegnesd

(2) Himachal Pradesh
Jammu and Kashmir

(2) &=wse F3es
(4) =y R0 25T

(2) Thrombocytes

SR Lymphocytes
30 YRRHBODREo0T,

(2) ZyounegEnd
(4) Oogpexesnish
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27.
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Endangered species of mammals found in Karnataka include the
A. Bengal tiger

ywlndlan elephant

C. Lion-tailed macaque

D. Olive ridley turtle

E. Dhole, the Indian wild dog.

(1) A, B,C,Donly’ WA, B, C and E only
(3) AB,C,DE (4) A,C andD only
BIFUBRY, ForROWTVE &R ONTORISYTIN FFR T,edrieh cin)[Boms

A. WoME 30
B. 00303 &3 @
C. 20BT3-1ROT DB O

D. ©dex® 07 &w0nsh :

E. 3ned, md@ea:bmab*oo&: Q

(1) A B,C,D 3»3g K‘&Ga{ﬁaEaﬂD

3) A,B,C,D,E 2 =02 D @03

Which of the following statements is i with regard to Washington Accord

originally signed among six counm§ 989 that is responsible for accrediting

undergraduate engineering degre ms ?

(1) National Board of Accreditati BA), India, has become the permanent signatory
member of the Washin cord on 13! June 2014.

the recognition of t ogrammes by other signatories of the Washington Accord.

(3) Recognition ng& tes of programmes accredited by any signatory by registering
or licensing bo in other signatory jurisdictions is subject to certain restriction.

ecognitien of gtaduates before the date of admission is required under the Accord.

éﬁhﬁ@r{#@ Alovelolelay me"’w_ra:ir TTDD oda'a'd:ri’fid:r w&a’a”mﬁ dmﬂ 3
ancbﬁ 1989 T dmaoéo &30 TR rf%fo 2% :ba@d m&oﬁw zuz:ﬁouaﬁﬁ

NO?.JO(T)ND’OB’ 50&3&)5’ ng@u 3R ?

(1) Togye0D SR ROTY, ¢T3, 133e wRT, 201450:3’3 AT tBowaiod 533
~Eomd'?033£ ¥

(2) Bees-1 NOﬁﬁ@od QeRORENBA a'imaié TBRODT FOIF BN B3V SO 8357 WBCWRE
ReTO0 O3 cx:bﬁjaﬁeé TORESR RFNS,

(3) 30 F&wTT wcs’@a’ QDT BReomRoRT ©Hmd DTN JeRT NON#’VOLJ
CIRT)T3e A&TTT wa’a’—"paﬁr S0 DTODBIONY BHDEHTT TWOREIFOZ0 FOT) DWF Os.,ﬁfi"
WD ésd:éd

(4) uﬁomﬁio&:@aﬁ:@ﬁ TFeT DTCFD dnd VBT TONEIFOIN BTZ BN,

(2) The NBA accredited §ro mes offered by the Tier-1 Institutions are eligible for
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28. What s true about Maglev technology ?

29.

A. Maglev technology includes no moving parts because magnets are used to create
both lift and propulsion

B. Maximum speed record achieved by using this technology as of 2015 is 603 km

C. Only four countries have utilised this technology including India

D. Maglev technology is used in planes and ship transport

(1) A only w2 A and B only

(3) A, BandC only (4 A,B, C,D

[T 30088 wR IRFTO F2,080NG 9

A. m ne* a'oogﬁécm) meﬁéwaﬂmmozﬁmdw DOER, 0BT r{%:‘dgt WERIR)TOOT
Qm@cﬂe BORT wan’r{!dda wjﬂmoﬁd)@fbv

B. =3 '::ogééodsab WS 2015 O=0 €28 mzﬁo TROORT Jen e, AT
C. ISP Feomed Feme T, ToR r{ejs aﬁag B3 30030 WP InRBRoRI
D. a&nﬁaf avo@,#éc:d:ab a:’md d}d) ﬁca’rbn‘eﬁ@ YOG,

(1) A mg (2) B,

(3) ‘A, B &) C &g ( B,C,D

Consider the following missiles and thei t)&ﬁn Indian Defense System and match
them:

Missile Name Missile

A. Prithvi 1

B. Brahmos

C. AgniVv

D. Sagarika ’Oé;wse missile

The correctly matc bination is
A" A-3,B-4 D-2 (2) A—1, BB, 8, D4
(3) A-4,B-3¢&-2,D-1 4 A-2,B-1,C-4,D-3

BN LIDTSe0 dé—'a Ea”d"odaéj %wréﬁt’e'ab w03 ePhny atp’dab TOMEDR 02 w@ﬁdﬁa
BOBRODLO

usdtéo:b Goptes) gf'aréoj: G
A. ag}% 1. /W0
B. wpﬁ.@mf 2. axfmfzﬁao
C: E;th 3. ST VN0
D. —aria 4, éeﬁa’oagﬂ@ TOOIROT aﬁ:ﬁ
ROOINN BROOJT FRBROTS
(1) A-3,B—-4,C-1,D-2 (2) A-1,B-2,C-3,D-4
(3) A-4,B-3,C-2,D-1 (4) A-2,B-1,C-4,D-3
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30. Which of the following is not a national level award instituted by Government of India ?
" (1) Bharat Ratna Award uﬁ)’Gandhi Peace Prize
(3) Rajiv Gandhi Khel Ratna Award (4) Dadasaheb Phalke Award
3PNS odnR)E) L7203 A5F T a‘?pa;?qdaaf Do, £00 aﬂ:&ggﬁ TIBROIRNTR O, ?
(1) o2 o3 BB (2) ™od 03 W
(3) Cozem oD sSee T TIR (4) TS e B3

31.

32.

% 2

India is the top most producers of several crops. Identify among the following crops in
which it is the second largest producer.

(1) Mango and Banana (2) Guava and Papaya
Silk and Sugarcane (4) Milk and Pul
BOTO0 BIRY VBEIoDE, 17008 eI MREYT. TN oI NZITHDEA, ¢T3
DOT3e m@ﬁdégﬂd DOLVTIBS, TOTSLD.
(1) S0 B wosd (2)

(3) de"" 02 iw aie#wﬁor{%o
What is not true about Bharat Interface for BHIM) app ?

(1) It is a Mobile App named after Dr. rao Fl Ambedkar, developed by National
Payments Corporation of India ( ased on the Unified Payment Interface (UP)
for instant direct money transfen een two parties using any mobile devices

(2) Itis intended to facilitate wards cashless transactions
It works independent of intgret connection with all Banks operating in India
(4) BHIM allow users to or receive money even by scanning QR code or account

number with IF or MMID (Mobile Money Identifier) Code to users who do
not have a URI- d bank account

®EITN YT @nm (Wessr) G°s wrin omd)c:b RSTY, ?

(1) R0 LPRTEE Tagy,ecd *"a:ié TOTPF TR 00T wzpagj% DRV, T, PR TR’
&%, oSeRT &30 BROL VRS’ REIAIR), Wb WD I S T3T, OB
o) dmrdﬁmﬁ z.,r{ra@nﬁ "'3;33 203005 uﬁa 2,.,05’3 mm Sk

(2) exOSnoYs 3&mu3§ zé@ﬁcmugt RNV GUT3edRT

(3) T WORRFOT AOWFFII), BVOOWRTOE YRISEY FOPFIDF LAITT AR
LR, 0BNERTN T FUR IREIZE

(4) QR RBo3EBD, 7, & SREFWOoTOR LH 53 $03,03 e IFSC Roded e2mem
MMID (aimg@‘ msaﬁad.mé:bad RS WYAYTOCTIUR 0302520 L0813, 08° Rosd Bpoded
WHRTONR BEasR) TYRLD L BEODL P I WYFIRO0RY, BRORERTT
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What is incorrect about symbol ¥ ?
(1) Indian Government adopted it as Rupee Symbol
(2) The Symbol was designed by D. Uday Kumar

“(;;Jt is a blend of Devnagari and Latin letters which represent R
I

34.

t was presented to the public by the Government of India on 15t July 2012
¥ ROBEIBT 2187t 0RO ROODYTONG 9
(1) %PT3eodDd FFFT SR TRTVOWV RNoBeSmoN LoNBORZ
(2) &. euZod® BT TR0 Roged) DMARHORD)
(3) &= R, FEVORB BeSTond [ CRU® 0N RochoTaNG
(4) TS ABoFO) MRFRITON 153 w¢, 201209, TR, TOWOR

What is not true about National Green Tribunal (NGT) ?

(1) NGT is a statutory body established by a Governmént Notification using the powers
of Section 3 of the NGT Act, 2010

(2) It deals with all environmental laws on air &a'ter pollution, the Environment
Protection Act, the Forest Conservation @h he Biodiversity Act

(3) It has replaced National Environment Apgeliate Authority

The National Green Tribunal has j n over all civil cases where a substantial
question relating to environmen under union list and concurrent list

T2y,600 DT T9,030:30089 (NGT) YT FOCWDE) ?
(1) a2 so0s3, 2010 3@ T PTTRD), evmodeens FeoF 0 2.0md

BRRRWSOT TREATIRI 2.0 m:—a’ﬁucﬁa ﬁoﬁmodmhd

(2) =030 &) ww W20edT, ToxT #od%m FOWT, @dt% ﬁodﬁm FOWT =R
BB FIGI 5 ), TWORC' FONTRLRODN 93 B RBORZT

(3) e oOAE 20T T, 03005 WITD #oﬁmoﬁa no

(4) Beors a3, 083 3, ) BT 0D BURYREDHY Wi TORTE, FOWORAT NEaReRTT
ag%ﬁ oo TONOT FedeansoRng oee 23,608 BB FR,00T0TP03 a%c&:ig{
TRODT

35. The battle of Talikote brought down the

Vijayanagara empire (2) Bahamani sultanate
(3) Marathas dynasty ) (4) Rastrakutas kingdom
SovEneEIod TN TSIRRVITIT ' ‘

(1) DmobINC =R, (2) 2BRR RRF ooy,
(3) abow’dmmgua_ | (4) oo ERUT oo,
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-36. Consider the Census data of 2011 in respect of Karnataka and identify the false

statement.
v(ﬂ’ The last decadal population growth in Karnataka is 16.7
(2) Population density is 319 in 2011
(3) Both birth rate and death rate have declined
(4) Child sex ratio is 943 and adult sex ratio is 965 females per 1000 males
ortsn 20110 wIneesd daa_’odegt TOMEIRD TR Ssr‘fz, ée@ﬁoﬁaQ rpelovtyy

(1) IFEBOY, o0 TIVRIE wB0sm, WHBeITod 16.7 8N

(2) 201189 =05, ToBE 319 BN

(3) =S TSre =R Bodee T@ReaSoR ﬁafoo:imnj @
(4) S8 OoroIms 943 a.ba’:doj::#d Somzms 965 z@

37. Consider the following statements about river systefsq Karnataka
A. Karnataka has seven river systems.

31000 roE=OR ©N3)

B. Highest estimated vyield in percent is of wmg rivers followed by Krishna.
C. Kali, Aghanashini, Sharavathi, Varahi, athi Yennehole are the important west

flowing rivers.

live capacity.

D. Linganamakki, Supa, Almattla\gbg gabhadra reservoirs have more than 100 TMS

The true statements are : :
WA, B, C and D . (2) A, BandC only
(3) A andB only (4) BandC only

BRFLEE IO IR BINS Bewdridad) woncdnd

A. Bmres aPdIBTTHoD), BRoOE.

B. 833, ©omow [WE0 SEmmOSY, BRI, HOTNR SONYR), IBIST TR .

C. 59, BPTER, BoR3, Bovd, Jean3, CRBBRY AR gdna)md TBG, OIS
0.

D. Qons=o, AR, BQ SOB) Bonyms, weedednt 100 TMS fie 523.23 R3¢ MR
BROD. ; :

RTOW BELTNFINTOIT

(1) A, B, C D (2) A, B@3C =03

(3) A @2)B =g (4) B &3 C 3ng



s

38.

39.
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The only metallic element that is liquid at standard conditions of temperature and
pressure is

(1) Calamine \M’ Quicksilver (8) Galena (4) Chile saltpetre

ROTNT, THHUE BDTRRT TR wIBE TOYS0DY, THIINT 205356 2,000 CREBEID
e:sﬂdaa)fdb .

(1) wos (@) 87 200 (3) A (4) 8O mer, deucs

Cobalt is part of which vitamin ?
(1) Vitamin B, (2) Vitamin B, (3) Vitamin By rtamm Bio

8RR, odRw STONE YPRNT 9
(1) @, 3R (2) w0, smon (3) g wmon @9 Wyp SION

Which of the satellite launch vehicles is seen as a “ga ger" mission in space
technology developed by ISRO ? z )

(1) SLV-3 (2) k‘%ﬁos

(3) PSLV-C37 3 Mark Il

LIOWDROR0. 00T wapdm DRROL 03RE VT EAo) DID), WoTET
BN IR ek LB €22)035 N LWET,00RCIN 7

(1) o3 (2) NIRRT R-D3

(3) 2T R-C37 (4) VFTRFQ BRF I
Consider the following inter \z\years declared by UN since 2015

A. 2015 national Year of Soils

B. 2016 @ntematlonal Year of Cooperation

C. 2017 International Year of Sustainable Tourism for Development
D. 2018 4. International Year of Indigenous languages
The correctly@ﬁed combination/s is/are

(1) A-1andD-4 only wt?f A-1and C -3 only

(8) A-1,B-2andC -3 only (4) A-1,B-2,C-3andD-4
2015 dodesrt B om PRCART FINT e:eoédva& eodd aﬂﬁs‘ﬁe}ab Gafelatyorlle)

A. 2015 L d:té;f e&oédo'aw eodd a‘&’u-‘

B. 2016 "dsadd boddm&a o IR

C. 2017 nm'e! mfuraeddo e:aapdaoda woédcme.a eodd JRE
D. 2018 N@eocb OTNY e:soédoau eocb IR
RO0INPN BROOVT B odm@ti‘ow‘d

(1) A—13)D -4 33 (2) A-13HC-33n3g

(3) A-1,B-2=03C-33ng (4) A-1,B-2,C-3=03)D-4

» @
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What is true about Gold mining in Karnataka ?

"Karnataka has produced over 1000 Metric Tonnes of Gold from its gold mines.
The major mine at KGF has been closed since 2003 and has proposal to reopen.
India has only three working Gold Mines of which two are in Karnataka.

GSI finds the third largest gold deposits in Shimoga district apart from Haveri,
Chitradurga and Tumkur districts.

(1) C,Donly
(2) A, BandC only
A,B,C,D
(4) B only
FF LB zﬂa’_;;ﬂ z_'irémaﬁoi: Rt odRHd R 7

A. 33 58 Redneon Bmortsd 1000 t°re 08 LIRS AT
B. @0 nedodna KGF & 2003 doriese Ravedwn IROPBORIS FRBHE,

C. %03 Bwodh 503F T3 W NeInTR), =g BOOT, RN T B DR BWF LBEOR.

OO w >

D. woe3¢d, W3mone d:.?’:gé:dbimda BIR) e @édmda z&:“id ai\eaidaigi éﬁeirarj‘
Bgod GSI w_a;‘ IR,
C, D dng o) Al s%aqu) 39my0 rem* ot SBHHIB.

(2) A, B3y C xng ssroride &g 5 2.40,00085, B8 EEHENL JOIN SARS.

(3) A, B,C, B R’Jeaira J 3 Dos® M 95387815701 30e3 @ /e300 S5n@.

(4) B =ng

Who put forth durin @to Karnataka the four principles of ‘Swadeshi Prasar’,
‘Videshi Bahiskar’ nal Education’ and ‘Demand for Swaraj’ ?
g@@ﬂlak

(2) Gopala Krishna Gokhale

(3) Lala Lajpat Rai

(4) Bipin Chandra Pal

BIDF L33, T 23ee3000TN ‘R, L3ed TRIT, ‘DT3ed WETWO™’, ‘TS, L03 ég,‘sa' =)
‘%mwéag}n 23R8’ oW LY, ﬁar{#dgl DoRRTI0 ?

(1) woRomTT 8wF°

(2) ﬁmmo@aﬁa e

(3) ©oen wxT* Cood*

(4) Bz Wommoer
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Which are the associate banks so far merged with State Bank of India ?
A. State Bank of Saurashtra and State Bank of Indore
B. The State Bank of Bikaner and Jaipur
C. State Bank of Mysore and State Bank of Hyderabad
D. State Bank of Patiala and State Bank of Travancore
E. Bharatiya Mahila Bank
A,B,CDE
(2) B,CandD only
(3) A, B,C,Donly
(4) B,C,D, Eonly .
AL W08 55" [oRAINTRON RTBA DOIRRoRE ZS odRR)wR) ?
ReEs® 13,05° 55 RRTOF, Z) Rera* W05 S Qe
ReEs® W30, 08° ST WBIeT” R Nt W, T &
e w,08° en® R0 P Feks® w,08° &mmw
RO 13,057 557 TOLICTRY TR Feks® T R WodReT
EROECT okt 2,08 ? ' '

(1) A,B,C,D, E \k\?‘
(2) B,C =3y D =ng ®
(3) A, B,C,D =03 %

>

moouw

(4) B,C,D,Exng \%.
In princely Mysore State whith party merged with the Congress and called itself Mysore

Congress ?
v(‘ﬂ' Praja Sa ta Paksha

(2) Bahujan Samaj Paksha

(3) Samyukta Karnataka Paksha

(4) Socialist Party of Karnataka

TORT BYRAT TEBY CINT T, 503 23R00R DOeSrRRZ &) a"a;aie )RR TORA"
Q0T FFBBR0RZD ?

(1) S oodkg =g,

(2) wERS A= a:iti

(3) :iocdw_-u: FooF 838 a—-u;

(4) rhaeéo:b@n*u TR ST FIFED
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46. Consider the following awards given in India and match them correctly.

National Award Type.
A. Padma Vibhushan 1. Gallantry Award
B. Param Vir Chakra 2. Sports Award
C. Jnanpith Award 3. Literature Award
D. Arjuna Award 4. Civilian Award
Correctly matched combination is
(1) A-2,B-1,C-3,D-4
(2) A-3,B—-4,C-2,D-1
A -4,B-1,C-3,D-2
(4 A-4,B-2,C-1,D-3
RT3RE, Ve FPNS smdm O30 303 esfgrfe.#;ic BD.
uaa.écodo IRz AT
A. B SReRo 1. @wy b
B. 0= de0” o35, 2. R
C. wmgFae gdx: 3. T TR
D. &2 S o] ag‘eﬁg

pstelovinty ﬁmoﬁnd prvelor ®

1) A~8.B=1,0=0,D

(2) A—=3,B—4,C—2,Q\ .

(4) A-4,B-2,

47. Which of the folldwing statements about energy flow in ecosystems is true ? ‘
(1) Total incident solar energy on plants is higher than the total incident energy on
earth
(2) Stored energy by the herbivores is higher than the radiant energy fixed by pIants

(8) Plants transfer lower amount of energy than herbivores or carnivores
nergy flow keeps decreasing along the increasing trophic level

Bifere] qsdﬁmod:q, BB BOLT WAR FINS Bevdndd, oInRF)Td BTN ?

(1) RRne 2003 L) T3 B30I RN 0edI ) STRE FOCBENCS ézan\cf
(2) R=IEENYY BeDTROINT BBOIN AZNWD LROL) 1), 8060 B§NoS TN

(3) RN RRIEE =02y wyrd YPEEnvnes e BRRT BIOIRY, W WRIS

(4) Bgod BOF) ETE BT DOTOBR, BLE3TITY BRI
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48. Consider the following statements about Ozone

A. Ozone is a triatomic molecule of oxygen and its concentration in Earth's atmosphere
is measured in Dobson's Unit.

B. Stratospheric Ozone is beneficial to humans and ground level Ozone is harmful.
C. Ozone is germicidal and used in purification of water.
D. Ozone holes are first formed, and are deeper, over Antarctica.
The facts about ozone are
(1) Band C only
(2) A, B and D only
(3) A, BandC only
WA, B,C,D @

LB WK BYA —"ewﬁmﬁﬁa N0 :

A. TR 2otd BRdd e&ua‘ TWOTIEV)Y, €600 S0 S CIEOTOT AT BN
TR PLBATY uﬁodaoad p

B. -’dd:oa’e.}d Lcﬁqma’ 2nson Gafestolents 202 Fsour LU TETS.

C. t,dq.raw BB T BOBOEBTT ), GVTodReNTITTB .

D. %3ees® Sog, Semen eroo&aarb@ SPTONTORT) 2083083733 2rees

L.UReRS WK sz 0B

(2) A B=2)D &g
(3) A BR)C 2ng

(1) Babagc:aﬁsag \ng'

(4) A/B,C,D
49. The virus that g@s itted from mad dogs is
(1 ) Rubella yi w2] Rabies virus
Rota (4) Retro virus
modozpcmri@o SRRRON DFE CRQTIR T IR
(1) dode, oy (2) Sewm® Fox*
(3) Cmee3 ez (4) dtne Fo=°
50. Which of the following nitrogen fixing bacterium is symbiotic in nature ?
(1) Azatobacter (2) Azospirillum
W3Y Rhizobium (4) Nostoc and Anabena
BINT cdnm FTwTE P%beﬁt):-foai 23R,8eD03 ARRF TS, 0030 BeCIPAT 9
(1) wdmiraeaaasicf (2) edyees ooy
(3) Braeewod® (4) S =) e
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Submarines are detected using

(1) LIDAR 2 SONAR (3) LASER (4) MASER
BWOROBMOF W FOBNRIRY DIRRTEED WIRIHT)

(1) Owmeo® (2) RAreT® (3) Semc* (4) Roero*
Which tax contributes maximum for the Karnataka State’s tax revenue ?

(1) Excise duty uﬂf Sales tax

(3) Stamp duty (4) Vehicle tax and Entry tax
SF £33 DOTT 30T STRODE, R DG 307 €58 ééﬁgd ERRN AeR3BT 9

(1) ese520 3on (2) =noew3 ort

(3) meo) 3on (4) =o®3 20 e3 3on

Dr. B. R. Ambedkar School of Economics on the lines o@on School of Economics

is proposed to be set up at P
ngengaluru (2) New Delhi (3) gm i (4) Dharwad
®

. 0. BT°. BoL3ERT’ BT, TSI T, ToSe INTOCHA,
TR, 00RREOTICBRTO #Q#
(1) Pongnd (2) I=B3D (3) &0z (4) oT=B

Which of the following Policy wa@g nnounced in the Budget 2015-16 ?
(1) Slum Development Poli (2) Micro-irrigation Policy
(3) Girl Child Policy W™ Electronics Policy

2015-163 esobs QS DESOIRY, PACATBOY?
(1) 8pss Ykes ©f (2) Reg, Deoom0 Ded
(3) Beay DrdORE (4) WIS ed

After effecting _ Amendment to Constitution, Karnataka was the first
State to pass The Karnataka Panchayat Raj Act, 1993, which provides for a three-tier
structure of Panchayati Raj with Zilla Panchayats, Taluk Panchayats and Gram
Panchayats.

(1) 72nd wer 73d (3) 82nd (4) 83rd
RODTOD STRBROIR), 28087 S0 oSBT, 23657 TorODT, T>LRF HorsoRT

BB T m’omod:éai:ai@tﬁﬁraod oD 203R 0303y, aﬂomojaa'mzs“dgt mm&#w
ATERNTEIT FIF 638 T[oLTOIS TS TN, 1993;7&;t 0BT FHHR oo%%,

BEOF 838N

(1) 728e (2) 733e "~ (3) 823¢ (4) 833¢
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56. Which of the following statements is not a fact about Karnataka Public Service
Commission (KPSC) ?

KPSC had its inception as ‘Central Recruitment Board' in 1941
(2) Sri H.B. Gundappa Gowda was the first Chairman of KPSGC in 1951

(3) Itwas operating from Attara Kacheri upto 1968 and then shifted to Park House.
It started functioning from the new Building Udyoga Soudha, since 2005

(4) Vajra Mahotsava Soudha will be its new additional building
BOF 638 g Beam esodeen (KPSC) witrl 390 o3ns Seos ORRTE) ?
(1) 194189 KPSC ‘Beolyeosd 863508 2039 admn GapYeleRTADI AN S
(2) 195189 KPSCob Spwe ©53oessc §e &, . nozg

(3) e eRY Bis0c0n 19688010 =) J033 mos™r "@ oSO
TODFARF BAD), BRR BEE VTR, en FPB00T 20 6 FOODF R RS
(4) = DBREIT 7R ©To a':?.ra# éaﬁauda wﬁmn’

57. As of 2011, the institutional productivity o ?ﬁﬁlenllflc output in Karnataka next
to lISc Bangalore is achieved by é‘

University of Mysore JNCASR, Bangalore
(3) CFTRI, Mysore 4 Karnataka University, Dharwad
2011895308, smresnd), lISc Jo3T €38 aéz&gd a;za'aqpv U3Zod ADORECD
EVTITTZONR), MU
(1) Symeth 080w, w0d (2) & T & . A BT, WorPedd
(B) 2. F. &3, 505, 8. _ (4) sPoFLE DB, TTTE
58. Annual per capi@me of Karnataka during 2016-17 was
%1,59,8 (2) %1,46,416
(3) ¥1,03,00% (4) 94,178
2016-170S)_3oF L3803 a8 3en aﬂd&ﬁma’mhd%da
(1) ¥1,59,893 : (2) %1,46,416
(3) ¥1,03,007 (4) 94,178
59. The currently estimated population of Bangalore has crossed
(1) Fifty lakh (2) Seventy five lakh
Ten million (4) Twelve and a half million
3363, Wonednd om0z IR0, TLITITD
(1) == o8 : (2) T oi
(3) == cﬁeﬁc}g\ (4) é@{dt&raaﬁd d@i@i
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60. Which of the following is not the major adversary for the investors to invest in Karnataka
S0 as to make it more attractive destinations of FDI ?

(1) Bureaucratic hassles
(2) Infrastructural deficiencies
(3) Power shortages
Mack of balanced regional development
BINTRNTD_ CIRT DTIed &eC BRBTOD a?"zdgd SBRFT ﬁd%a%dmrbﬁoa’ TRBED
BooF WEREY) TARTTTD) woBmY BREW J0a SrEEEIRNTEHIY ?

(1) 205058 LE3HEND

(2) Rwendnd Piobhrs oI @
(3) BsobEe0S O
(4) RRBREVTT T,08e0% LSWF 0D RTT Q

61. Anandi Gopal Joshi is

7 One of the first Indian women doctors :E%Me Western medicine

(2) The first Army Officerin Indian Army

(3) A Veteran Freedom Fighter

(4) Woman activist who fought against practice of ‘Sati’

2800 NRETT* 2eeai03d=3d

(1) =3Rng Fwdecd F3 URARTT Ly, BHD0 37030 Wé
(2) ZPT3e0R FeSoDD RETOTO

(3) W, mda’og 5 D apih

(4) ‘=& ﬁc‘fpé BRECIRT B0&eD TICHFTSF

62. India’s firsti anetary mission that was successful is

Mars Orblter Mission

(2) Mars Global Surveyor
(3) MAVEN
(4) Mars Reconnaissance Orbiter

PSS [ER 030RBT 0IBR,¢ IRTENTEYT
(1) Sa'F eo uc® ORT

(2) = fRcwe® ASF 0T

(3) =S

(4) . SRFF T8, 707, SO 07
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63. India’s first GM food crop to have got approval from Genetic Engineering Appraisal
Committee (GEAC), the regulator for GM crops, is

(1) Brinjal (2) Basumathi Paddy
Mustard (4) Cotton
230 LWIFNY DO0TT, 235L35" 023NN e 2° 2208 (GEAC) 000w esvinensieos
LPROSE IRTL B0 LIB0INADIHD
(1) 233 (2) w8 3
(3) =oas (4) =&

64. The number of Medical Colleges in Karnataka is
AT Fifty (2) Forty (3) Thirty @Twenty five

BIOF LB ﬁura_;ﬁea:b dzmamﬂmc\:{:r{aﬁ 033,

(1) w5 (@) Beme (3) mzﬁ) (4) =3
65. Which of the following combinations of items ¢ /&y ;3roduced and the districts is
correctly matched ? $
(1) Aluminium — Chitradurga Q’
(2) Chromium — Belgaum ?\
gm%ement — Gulburga
(4) Gold - Kolar \ '

53 3INSZYNPY, agendrt svznine D) BT YWHROE B0 EeeRnTE), RYTI,

FOCIRN BRoT 9

(1) ©eddoRoHI* ';’Cﬁ)f'\'F‘
(2) Fn 00z $— DI
() Aot - rb%mr
(4) zsajt — BpeeRd

66. National Aeronautics and Space Administration (NASA) will launch on June 21, 2017,
the World's smallest satellite built by an 18 year old boy from

(1) USA (2) Japan

(3) Karnataka ™ Tamil Nadu

T, 0% THOIN0IRE 02 ©o80T ©vd (NASA) xaT 21, 201780:) 0mowmOTys
Forddd 308 Ry eoTRBR) DRFAT S 229,18 SRFT TRN,

(1). cdw.a%".o. (2) ==os*

(3) Bor (4) BT
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What is not true about WannaCry ? .

(1) The ransomware attack spread across to computer systems that have not been
updated with recent security updates demanding ransom payments in the Bitcoin
cryptocurrency

(2) The cyber attack started on 12 May 2017, infecting more than 2,30,000 computers
in over 150 countries including India '

(3) Those still running exposed older, unsupported operating systems such as Windows
XP and Windows Server 2003 were initially at particular ri

M he cyber attack is ongoing and is expected to take s e time before it dies

down

TRF, N SR S9RNe) ?

(1) Te0d8, Jom08a e3Roeem a3es 15z YEBaDR) F0RToSE Resodey H
YR BORTY WENFY NAGFBEBEDEODS "-gw B3 THWERLL WIYODTRR

(2) ReodBSodn 123 e 20175080 & N, 1RO FeoDo3 15080, DONT |
TR NPT 2,30,000 58T Neak Tt AR EOBICLTIRERD

(3) De@per’ XP =03) DoBRER! R 2003803m 3 owd3 LmTeLson® BTHCINY,
BT AR R o8B SToHRY, D0F G bR

(4) resme asmzmdam% oRpEar TN DULEEITS R FERROD IRCERIT

@

Surgical strike by Indiawas planned and executed to avenge Pakistani terror action in
consequence o ‘

) Pathau@a k on January 2, 2016
_ J{Uri attack'en September 18, 2016

(8) Pampore encounter on September 28, 2016

(4) Continuous cease fire operations by Pakistan army in October

TRERS SET Po3ReITE §030 T HOFEREdIN 00, SeORERYLL LTS
BRETD), BEFLDR) 03REAE W) TICLF NSRRPASD.

(1) =T=02, 2016 T Hoom* Sroeed” ST

(2) BForao® 18, 2016 T cdad &BoED

(3) ﬁa'u;ouc’ 28, 2016 T To05PETT TP

(4) 2ERITIY, THIMIE Ao TTS DUIBITY, VT DTCST FIIRF230H
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69. Svalbard Global Seed Vault nicknames Doomsday Vault is located at

(1) Arctic Circle \.(eﬁ\lorwegian island of Spitsbergen
(8) Greenland (4) Iceland
BFCLOST mﬁguﬁow SVTDRTD B SO0 - SNST e r‘od%&s Pl b "’@d
(1) e3rs 33 (2) r@EFwnra's mas”'r-crb aem
(3) gea’e::g;ozaf (4) R T CT®
70. India is a member of which groups of countries ?
A. G-20
B. G-7
C. OPEC ®
D. APEC O
E. NATO o C)
F. OECD - /&
G. BRICS v
H. SAARC Q.
(1) A,B,C,F,G,Honly

(2) B,C,D,E, G,Honly \b?\
(3) A,D,E, G,Honly
m. G, Honly \2\
RT3 CINT 03 ol r@% RCRTONDTYTO ?

220

2. 2.2, §
. €9.%9, A,

.. 83, b

WRaAR,

. ETT. DA, DRE.

H. OF5.0.0.850°, 8.

(1) A,B,C,F,G,H a‘img
(@ B,C,D,E,G,H abag
(3) A/D,E,G,H d.mg
(4) A, G, Hgng

SD.'"!'”.UQP«"'?’
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The correct sequence of countries in the decreasing order of number of internet users is
(1) USA, China, Germany, Russia, India, Japan
(2) China, USA, Japan, Russia, Brazil, India, UK
@ China, India, USA, Brazil, Indonesia, Japan, Russia
(4) India, China, USA, Russia, Japan, Germany, Brazil
@O0 LPOT WYEEITT F023,cD AVT FIOHA, ToF, 1Y FO0IRE FerdodnNTdm
(1) C30.%F.., 2363, zsabs':b O, wada" mwm
(2) 23em, CIN.OT.D., WD, d.%, 23 Oes, 4T3, odn. 8.
(3) 23¢9, LT3, 030.2F°.., LOV?, QoRBRESeEHCIT?, [T, O

(4) ¥PTE, Wem, 030.0F°.Q., TF, W, BEFR, WOPS* @

The first session of the Mysore Congress was held at
mhivapura near Maddur in April 1938

(2) Vidhurashwath in Kolar district on 25! of Apri

(3) Belgaum in May 1930

(4) Madhugiri in October, 1932 ?‘

AR FooriAE SRTO B SEEEY 2

(1) De* 1938 T, d)dm@w A 33-

(2) 25 ﬁe DT, 1938 ol irane:od

(3) 501930 TG zﬁ@me‘ocﬁ:@

(4) ey, 1932 5O aﬂ:ds%: )

‘ DB ITO,

The total number of offigi uages in the Eighth Schedule of Constitution of India is
(1) 18 (3) 26 (4) 31
WPUIT RODTRIT e ﬁ@zﬁedtﬁ@dﬁ T RTNY 2wt R0,
(1) 18 (2) 22 : (3) 26 (4) 31
Identify the incorrectly matched combination among the following :
(1) Sorrow of Bengal — River Damodar
(2) Sorrow of Bihar — River Kosi
(3) Sorrow of Assam — River Brahmaputra
Sorrow of Himachal Pradesh -~ River Sutlej
BINSINGY, ROOIRN BRODALTE BReROIRY HIRNRO :
(1) worm¥s Bres - OIRTIIO
(2) 2=o0m Brees - BRIO
(3) e Jpes - WERDP S0
(4) RO TTSE Boed - R R0
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76.
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Match the following Indian classical dance forms with their respective State of origin :

Dance Form State
A. Kuchipudi 1. Assam
B. Kathakali 2. Andhra Pradesh
C. Sattriya 3. Kerala
D. Bharatnatyam 4. Tamil Nadu
Which of the combinations are correctly matched ?
(1) A-3,B-2,C-1,D-4 | w2 A-2, B-3, C-1, D-4
(3) A-3,B-4,C-1,D-2 (4) A-1,B-2,C
3PN ep@daea'b TRLOD 3z c‘:)cfmi&l SRR YONRTRT mm.r@ﬂ TOBRODRD :

83, :'Da; op O

A. ﬁma&a\g@ 1 tﬂ@
B. équ@ 2. el
C. myob 3\ JBecs
D. yogmmeio th BTED
OIS BT, ROCIPN BROOXT ?

(1)A3,B-2,C1.D4 (2)A2BSC1D4

(3) A-3,B-4,C-1,D-2 ® (4) A-1,B-2,C-3, D-4

Which of the following is ‘ot &h endangered species of India ?

(1) Lion-tailed ma (2) Nilgiri langur

@ Bonnet m

(4) Gee's golden langur

FENIR)RSD T 1PTSE eRRR0URYTN FrIewne, ?

(1) 0BT PSE Boed (2) Dewnd BwROT[RT
(3) wFeF Bned (4) Aecd BoTear wg
Karnataka is divided into agro-climatic zones.

(1) Five m en

(3) Fifteen (4) Twenty

B BRI, . B - TITR BOCDNTON DFZTDNG,

(1) & (2 =3

() =OFW (4) =
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'{8. Consider the following types of salts and the chemical compound.

A. Baking Soda 1. Sodium Carbonate

B. Washing Soda 2. Sodium bicarbonate

C. Chalk 3. Calcium carbonate

D. Common salt 4. Sodium chloride

The correctly matched combination of salt and its chemical compound is
" C-3 and D-4 only (2) A-1and B-2 only

(3) B-2, C-3 and D-4 only (4) A-1,B-2,C-3and D-4

BSNT DD 0T eanzd s08) HNY TomHIE ROSIFNGY TONEIAT,

A. eoRAreE 1. RReBodes* Jess®

B. SO0 A6 2. AReRoD: Wrrdet

C. :bsaga ' 3. 00T tInrdess
D. WRRT, eV, 4. Rptacwer sngder
ROV BRODAT V332 ) L5030 TRRRCIRT K0
(1) C-3 3y D-4 Sng

(3) B-2, C-3 &3y D-4 =0,

79. Quick lime is \& '
(1) Calcium hydroxide %\2\ W27 Calcium oxide

A-1,B-2, C-3 @) D-4

(8) Calcium carbonate (4) Calcium bicarbonate

3.5 SR SN .

(1) RODIT Fwwd (2) WOoDT* &8 &=

(3) T,O0DR* e (4) ODRT* tsorinrdess
80. The oldest SE&C Organisation in India is

(1) Indian Space Research Organisation

iz Survey of India
(3) Indian Institute of Science

(4) Tata Institute of Fundamental Research
PROBEAF 238,08 Bodd 2 08 FOFOIRNTIF.
(1) P88ecd o308, Rodrerm #oﬂm

(2) 080 RS m’oﬁm

(3) tpas8ecd eHF Kok R

(4) ot WRLIRS RoBRpTe #o.n;

KA
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81. Asper UNDP Report, Bengaluruisthe_________best Technology Hub in the World.
(1) Second (2) Third A(G( Fourth (4) Fifth
O30, 8. . BOODH BET, WIRY Bordedd___ Se 3w I3 ) § Fecn NG,
(1) Q2ead (2) 3ecd (3) ATVl (4) Soudd

82. The share of Karnataka in IT exports of the country is
1 38% @) 52% (3) 65% °  (4) 75%
OSYT3 8083 BYRO), 3moF LIBE 0L SNTIFT)

(1) 38% (2) 52% (3) 65% $ ) 75%
83. As perthe report of All India Survey on Higher Education istrict which houses the
largest number of higher education institutions dunn@ -16 in India is

(1) Delhi @) )x
W87 Bengaluru
DO RT3 YU ST REOD F5o, 201 TEODG, 93 Ty, eI B3ed #oﬁmmfa:{g_

DR ?gadaeo:b zat?odmhcb@

(1) SBO \&- (2) afmo"
(3) ordad ® (4) o=

84. Bhaskara Il is a famous a atlclan from Bijapur in Karnataka who wrote

WA Siddhanta Shir, (2) Aryabhatiya
(3) Mahabhask @ (4) Surya Siddhanta
TRFLTD © deGSDNOiTe)CJ' nesesas 0% m»%d | ‘E.}l’jdd.)
(1) AT (2) c:faiarqfa;fab
(3) a’:@wyamb (4) a’zaai:réagaa’

85. The non-Hindustani vocalist among the following vocalists is

(1) Puttaraja Gawai (2) Mallikarjun Mansur
\(8)’ Balamurali Krishna (4) Gangubai Hangal
BINS O3B, 0B em03e3T MMOBTINCIZT
(1) r3oow Rewok _ (2) SOBBFS D[RT*
(3) omNTP %ﬁw (4) noneROL TINTT
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86. Who has honoured A.P.J. Abdul Kalam by naming a unique microbe found on the
International Space Station as Solibacillus Kalamii

W RASA, USA : (2) ISRO, India
(8) CNES, France (4) CNSA, China

| €5030008,0D 20308, DeeaTd deed BomI0n 1ord DT, mﬁa%msmtﬁfra@@%gv T
D0OTION VOTOBOED 0 .80, 25, SV éoaoddo’aigt 3R r@d&?@%ﬁ 9

(1) ST, C30.QFF.R. (2) akne, yos

(3) A% 3 2R, T, (4) 2 ov oF o, @\
87. Who fouéht Portuguese among the following ? O

(1) Kittur Rani Chennamma C)

(2) Keladi Chennamma . « N

(3) Jhansi Rani Lakshmi Bai Q’“
W#” Rani Abbakka
B3 FINSROE) 0dTd Fpewddr hﬁmoa@dw ?
(1) 23R8 Tord Sy N », SR WORLD &30y na@m® o SBBDHIB.

€

e3»ION esn, "= Doz® M 95387815701 30e32:°/630Mm,0 c3508.
(3) TR, ooes e@em@ 4
(4) ooE3 03

88. Which of the g@emom in film Industry is not a native of Karnataka ?

(1) Prabhu undaram
(2) Aishwarya Rai Bachchan
mani Rathnam
(4) Shivaji Rao Gaikwad
TN 1R IT [INYO cInDd FFEvE TENSY ?
(1) =edocdess Roczdo
(2) wgonr g uzddn*
(3) Soe3ceo
(4) SHBVT® MOHTE
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89. Which of the following are the new Bhagya Schemes announced for 2017-18
Budget by Karnataka Government ?

A. Anila Bhagya Scheme B. Laptop Bhagya Scheme
C. Pashu Bhagya Scheme D. Anna Bhagya Scheme
E. Ksheera Bhagya Scheme F. Shadi Bhagya Scheme
G. Krishi Bhagya Scheme H. Bhagya Jyothi Scheme
(1) A,B,C,E, G, Honly "(2) D,E,F,Honly

\.(BfA, B, C, G only (4) A C,F, Gonly
FPNS R B I8 REor82017-18 3 SORT DT PRERT BRR DT :'%eabar{eaaha? 9
A. Q0 g1t AeR0 B. & e yon Aem
C. @ ern R0 D.
E. 3¢3eon 2,030 F.
G. By 3eE H.

(1) A,B,C,E, G, H=»g (2)

(3) A,B,C,Ga»3 (4 p& , G303,
gmp

90. Which of the following policies are formu implemented for export promotion by
Govt. of Karnataka ? v\
. Industrial Policy \L\
Electronic System Devices @Mufacturing Policy
Karnataka Aerospace Pdli
Karnataka Pharmaceutical™Policy
Duty Free Import AL ation Policy

moow>

(3) A,C,E, < (4) A,B,E, Fonly

TINSINTS caw S)e&ﬁ#dg‘ BHF 838 Ao Osy) o) eudeesmien Tadn/ ORTRRIRPVE 7
‘A EOw Qed

B. d@mys qsdﬂq: SUTFTEANER 2033 SCINOT Ve

C. dooFru® ©030%, Jed
D
E

F. Rebate of Sen@ Policy
wi™ A B,C,D on? ‘ (2) C,D,E,F only

. Boor g BIRDeod ed
. B0 QR0 RO AR 3T Jed
F. Zezo 301 003008 Jed
(1) A, B, C,Dz’uag 2) €D E,Fmg
(3) A,C,E Fang (4) A, B,E F3ng
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Which of the superlatives about Himalayas are true ?

A. The highest rate of uplift is nearly 10 mm/ year at Nanga Parbat.
B. The higest relief is 8848 m at Mt. Everest Chomolangma.

C. The least erosion rates is at 2 mm/yr.

D. Highest concentration of glaciers outside of the polar regions
(1) A, B,C,D (2) A,BandConly

A, B and D only (4) BandC only

&TROODT WANS 03RS e2E3030e3ND TIBINS 9 |
A. ©8 ) euFBRAWE NS RERT 10 /SR Son Swre* ST,
B. ©203 2308848 Qe [T w50k DFOR | BReSRRD

C. £83R3B0I0NT NSCINRATIT)TO2 QO dadr'a; O

D. T B3e3E BeoNtH 3 B &Td MG gag

(1) A,B,C,D (2) B 292 C axng

(3) A B&3D 3n3 (4 5 C =03
During the period of British rule, areas th comprise Karnataka were under as
many as 20 different administrative unit iCh were under

A. Princely State of Mysore {s

B. Nizam's Hyderabad \

C. Bombay Presidency | \2\

D. Madras Presidency

E. The territory of Ka R

The correct combipati

(1) AandEo (2) A, D andE only
(3) A,C,D only ™A, B,C,DandE
VRO &3 DD, BINT THF EIBHE uﬁm%d FeBR20 DG BB Hesrivon
eV dpinjiate] epaﬁssaﬂ%aiodd

A. SRRT 0oz

B. nn=03 ZEoons®

C. o 7,3

D. Rmox* @03

E. 3080S 260

ROCINTE I

(1) AR E =ng (2) A, D SR E SR
(3) A, C,D SR E xng (4) A /B,C,DSRE
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94.

95.
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Which Anglo-Mysore War resulted in death of Tipu, restoration of Wodeyars dynasty
and annexation of Mysore territory by the British, Nizam and Marathas ?

W Fourth (2) Third (38) Second -  (4) Fifth

o3 orR-Retd wd@ B3N ROTEITE, 2T DRIRRED ) aﬁo‘m S0, TP
SRt ooz, afab 2 83, Ve 502) BTIBR Roneutewh )RTOD, "Jom’r'm;ﬁrao@& ?

(1) awai’eo:b (2) :’nrada?e (3) TEIe (4) =E3e

The diarchy system included a list of subjects reserved by the British Government and
a list of subjects transferred to the Indians. The transferred subjects did not include

Justice Department
(2) Local Government @
(3) Education and Public Health and Social Welfare
(4) Forest Department . Q
Q,00% Tedod, FIRHOI0 LT REOF TR0 QRO IROZAY wptod 03 o33 BBROTd k3,
apadéeoﬂaoﬁ dmro&bﬁm& aﬁaﬁ:ﬁ#z&m#ﬁmw& as Rt u#ﬁmc@ocﬂa

(1) R cinon awess

(2) ﬁ@eocb F1.n o] %37,,
(3) e#sa ) T RRT stper, ENP mv\

(4) e.,dsa QeRad

Which of the following was not a‘%& of ‘The Government of India Act, 1935’ ?

(1) the grant of a large mea utonomy to the provinces of British India (ending
the system of diarchy :Er ed by the Government of India Act, 1919)

(2) provision for the e ment of a “Federation of India”, to be made up of both
r all of the “Princely States”

(8) the introductiam ect elections, thus increasing the franchise from seven million

nisation of the provinces where in Sandh was brought under Bombay
and Burma was completely separated from India

TINIYNG 38 03RO ‘202 AFF OB 590003, 1935'TC 2oBmndde) 7

(1) 2= mdeid TR0ZNor cirac# sl ), waa":o’o:bab u‘bmi’oﬁo@zz‘b (x3202 Tvor T
a-ao:oci 191989 wbzdomd a oow BB, aﬁdﬁ;wm emﬁm@z’o@m

(2) W oS a‘n@a FoOm) 0N ae:a mmjoaid crau ﬁe;f?ua RedR IREE 03T wER, 3"
RS @dﬁ:}éﬁmd}

(3) a”ed BOTRE0D ToL3ed W3 LEoor FTS S SR, ado LB AR SRRSO al 8221014
QORI

(4) 2o 20w LRODY SCIF)T WA= udnrddg{ LRC300T RoTREIF =N LIeTF BRO=0S
T,08,1% {RNZ: FICIVONBRRAYARYT



96. Which of the following statements are incorrect in respect of three-parent babies

(1) Three-parent babies are the result of the first-ever use of mitochondrial replacement
therapy

(2) The baby is produced by fusing the nucleus of the ovum from mother with enucleated
ovum from another donor and then fertilising with the sperm of the father to form the
zygote

(8) The first three parent baby was born in Mexico to a Jordanian couple with the help
of John Zhang and his team at the New Hope Fertility Centréy

uﬁrUSA is the first country to give permission to gd ahead

%08 DN ForoRIToS FPNS oI Bewdned 20

(1) BEneso080D WEHIE 28300 BRLFBATO w4 0B3e SeoS B3O

(2) =POWAD 20T BRFODIT) DR mavtm = 23T BATS 20T LRI R OO
PR 3BT0ST Soedd é}eoﬁarm&};&mo@@ B2 0307} GLOLLENBIT)TOT SBO)
UZ303TOI3

(3) RecuRs*r SnSE BaEee qsw{%g 33 moa* Gypory 3 SoBE ABeLERODT
HREBEF EQOINT WoBENYR =30 ) BpT0 RFS S LD

~

(4) 3w BBONRER S00ws TS VeRT FRTO UDE&'; 0320, 9% . O3RN

-parent babies

97. Which of the following ft*has the current World Record for the fastest manned
aircraftat a maxin$n d of mach 6.70 (about 7,200 krm/h) ?
(1) Lockheed SR-7) Blackbird
W™ North AM$7 X-15
(3) Mikoyan MiG-31 Foxhound
(4) Sukhoi Su-27 Flanker
B3 FINIYNIY, £ Ted), Ben=oms 6.70 [R5 SR, (ROt 7,200 820/ riosd) eg08
- SEPTRACINT BRTDAEGS RPN FR0wE DG BRoDTID
(1) wos°der® SR-71 RFwE's
(2) 030 eoedmT X-15
(3) avdRcing® MIG-31 gov @0
(4) Roxdpeoss® Su-27 s o80?



ﬁ e

98. Which of the following low temperature technologies is correctly defined ?
A. Cryonics is the low-temperature preservation of humans and animals

KA

B. Cryogenics is the study of very low temperatures, how to produce them and how

materials behave at those temperatures
C. Cryotronics is the production of electronics that utilize superconductivity

D. Cryoelectronics is the study of superconductivity under cryogenic conditions and its

applications
(1) A only (2) AandB only
(3) A, BandC only w4 A, B,C, D

S9N 3R HTHRIT T038IRYD. CIRFYTY, FOOIRA TSNS 7
A. ZRISC 353) TN TR BITINIS .-uod"’ o3RG, 'ﬁ’ cﬁma '
B. ©3czamhenm dm"’m‘ Sinfevory e@ri@sb ik ¢ emo@abaz:bd

SBIRBALEY dér#ua’a? DO ﬁq.uaez::?e'\)ﬁ*
o @@@ﬁé@db& g memmrae.b w NOLD) ga‘rieé Shcpiar MoV fesTot kot

‘ SN Bert 903

D. 33was wmer@e ) EQTHTBIOD tﬁzj O 03 €53 neaNdI)c3e gme@@ﬁ: D JET

(1) Azng @ B 303
(3) A B2C 3ng 4 %,D

99. The number of Grama Panchayats in Kar a is more than
(1) 4000 (2) 5000 6000 : (4) 7000
BRF BT W) TRED Toz3o3SNE, ﬁ%eaﬁmhzﬁ.

(3) 6000 (4) 7000

(1) 4000 (2) 50

100. Consider the following E j‘%‘%ompanies that traded with India
A. French East India Bq
B. Dutch East Indi
C. British East Indl;
D. Swedish dia Company

The correct chronological sequence of these according to their founding years is
(1) AB,C,D (2) B,C,A,D &7C,B,A D (4) C,D,A,B

LTSRN Beoz5o83d FE13 FHNS ew Q080N B0 Jarwab Sielatyorte
A. Fowr 535 A Gotoam 8o

B. CSZ':" 6%1 Q0803 T[T

C. i sxm Q0803» FoT/R

D. 2 caz Gu F BOBOTR BOTR
e:d)r{eﬁ ﬁoﬁ%dm SR BF0 [y Bo0INT PERRITRSTOIN AT

(1) A/B,C,D (2) B,C,A,D (3) C,B,A, D (4) C,D,A,B
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101. Krishnappa had 5 Acres of agricultural land which was divided equally between his
two sons. While one son had two sons and the other had 5 children and the land of
each son were divided equally among each one’s children. What is the least extent of
land got by any of the grand children ?

(1) Two and half acres
(2) One and quarter acre
(3) 8/, of anacre orless
m-lalf an acre @
IR 5 250 B RO BRODTI, ) 33 et a@ﬁJ 0T LN BT,
%

229 SONRN ‘az.gdda Gycies) SBRWRN 5 07 B FoF &)Jedab Re30eN 223030
d::g%* B DPRRRrIE. mdgg@’ 8 cdndnie 253 03 AR WA awocﬁc?

(1) oORe=E 93 Q~
(2) woBmTED aﬁd ?‘
(3) abﬁ%w @88 T30 BB &'

(4) egF 283 \2\

102. Find the amount of reve overnment gets if 0.1% of surcharge is levied on a sum
‘ of Rs. one lakh cr § '
(1) 100,00,0
w7 1,00,00,00;
(3) 10,00,00,000
(4) 10,00,000
20T ©F BRets HRZE se50.1% 0F 38 QRN REF T8 A= 307 BRZDR BORLEROWO.
(1) 100,00,00,00,000
(2) 1,00,00,00,000
(3) 10,00,00,000
(4) 10,00,000
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Figure 4.1 : Exports as percent to GSDP
37 . A S A

L S

34 ...

33

<

i
s

31 A L—
2013-14 2014-15

2011-12 2012-13

Which of the following interpretations of the above histo r@ incorrect ?
@12-1 3

(1) The highest exports as percent of GSDP was duri
(2) The exports as percent of GSDP shows a decre ing trend over the years

(8) The exports as percent of GSDP was i ical during two financial years

MThe exports as percent of GSDP ju 14-15 waslhalf of that during 2012-13

Figure 4.1 : Exports as pcrv@n? ;
a7 - - : g S gt i S

31 —

 2011-12 2012-13 2013-14 201415

B0eDS LR EMD,Q0S WK VAT AT odns 9,809, 3) BOOIRTTY ?

(1) 2012-133 e=00h8, Srummmh 2o auch s ©808 s Ig) a0

(2) SHEFRDTWTS FeBmom0) BT BRI Csp) avBodnrd3tdss gafugojadg{ Zredbdnd
(3) BeBmTTL 27 BLODOS OF) TR B S IRFNY BN BROTONZY

(4) BT Bm BLOS Osp) 2014158 BN 2012-133 23005 eﬁcjrd&&g_g
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104. Gaurav is taller than Shambu but not taller than Robert. Robert and Trump are of
same height. Shambu is shorter than Alveera. Who is shortest among them ?

(1) Alveera (2) Robertand Trump
(3) Gaurav ¥ Shambu

BoedNo3 P0R* agdmﬁm%ﬁ, ST TIWEFFNOS 38) . TREFF R) E30T° AR
BB, Bogd 9 0N B . AWRNLE, cddd 3,03 BYTARD ?

(1) @deo (2) TowErF & Lo

(8) mPo=* (4) Zoghd

Directions : Each of questions 105 and 106 has a passage followed %'we conclusions.
Choose the correct answer response about which conclusion follows i ight of the passage.
ABrenh : 105 =023 106 E.jzj’tn’do 3R 2,00 VT ws zpar{d;igt ﬁg ed@tﬁoﬁa&d Fom)
émrﬁﬁﬁﬁa BRODT. T ws YRNG UPF TS cins géaa__a:d éeé«_ _tﬁaomn CRPAeaveinlonio)
€035 YVZ0RI SOLIERY L. - s

105. There are several charges of corruption aga icer X. Anyone facing corruption
charges should be suspended and an i u%?'hunched into the charges.
Conclusions : %
. Officer X should be questionegd’'akout the charges and then suspended.
Il. Officer X should be susp

(1) Only I follows @
w2f Only Il follows

(3) Bmhlanduf@

(4) Neitherlrwl WS

VRO X LTT BOTID PR SREINGS. 0InTe Pmmimon STDWINIDY,
adab@q)dm STRIDRAYIIER DB STTINTR FowoDLTI 2,00 amdi‘éa‘bﬁg‘_
559,Cotpmedesd.
SeTREINLD ¢
I emRasSng wif e0mo X &) Fereied 32 So30 eRnIRrReeRe.
I ©050X a’igt BBRDINRYRLIR.
(1) | 303 e=e8E
(2) 1l 3R e1RoIT
(3) 133 1l 98B es3070RTE3
(4) 1 endell snde odnep eRDRORPOL,
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Electronic governance helps to involve stakeholders such as interested citizens and
social groups in devising ways of meeting public challenges. E-governance promotes
democracy. Not all developing countries have adopted e-governance.
Conclusions :

I.  Some developing countries are not democratic.

Il. Some developing countries do not have e-governance systems.

lll.  Without e-governance democracy ceases to exist. ®

(1) Only | and Il follows
' 3053 AWy, SR WORLD & ;)« o8
w2 Only Il follows N o & Wyt 033 FBBDB.
| onee & raz 89, 2,40,00 8 BEERERD JOIN esRm3.

e JOIN esA, =° ' ;
(3) 1, 1l and Ill follows ~ =" JOIN &A, oz @"*‘?‘Qi 387815701 enen @ /68300 s,

(4) None of them follows ?‘
AT R B QMR S008I B &mﬁ%ﬂi 03REBRTOO, HBRFTHT WRHATI,
0B mmma’- NOOTHNYR @ W B-VREITR) AT0L TREIT. 2-BEIR)
TRTEI TR evdeiA g 0den TF e 9- SELERR) edsrERoRP 0,
SCTNFRN : '

. Fom) c@ﬁ@aﬁaﬁeﬁe TEPRRTFFNOR O .

I oz e Dew o Reh B- B3 af_idz;odo;si GelellalevlaloN
. @-uRvEs Erozen Hwens BT ADROY.,
(1) 1302 Il S eHxom3s
(2) 1l g emz50R03T
(3) 1, 1211 es3omomo2s

(4) 5 cdREe eRRORPHOY,
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Directions : Q. No. 107 and Q. No. 108 : Each of the next two questions given below consists
of a question and two statements number | and Il given below it. You have to decide whether
the data provided in statements is sufficient to answer the gwen question. Read both the
statements and

Give answer (1) if statement | alone is sufficient to answer the questions, while statement
Il alone is not sufficient to answer the question.

Give answer (2) if statement Il alone is sufficient to answer the questions, while statement
| is alone is not sufficient to answer the question.

Give answer (3) if either statement | alone or statement |l alone is sufficient to answer the
question.

Give answer (4) if both the statements | and Il together are necessary to agswer the question.
QB eIIND adé’ Hogd 107 =) :_:;é‘ Hos3, 108 : 8Jrt QeRBOT TV0OT @r@cj‘ﬁ% stlevipleiato

r.03> T 28 TS 99 AR SO Fewdnd Hoal, | el I m 3003 7t evgd

e@Een udﬁ?ucbd TR0 BB T 0T N 5@»:%5&:3 D\ BeBRVRD L DO T
BT UZoReD Beed | BRE, WHTT, BI7 ema’mw BBl IRG A w1 (1) 2owotn $ves
&0,

gqﬁ VB0 BewE I a—mg ROTTT, TI SUBORED TP %mmﬁmw%ﬁ (2) cwoth $0So
Q0.

BI1 eUBORL0 Bev3 | e Bevs 1l SR HFTT, ( woN V30 DeRD.

B3R wdb:dw BewT | 0B Bewd |l 2.e37 5 (4) QomaN VB0 VRO

107. Alibrary contains only English, Hirdli \(annada novels. How many Kannada novels
are there in the library ?

\ l. Of the one thousan@ls‘ the library, fifty percent of novels are in English and
‘ ; Hindi.

Il. The number of novels is double the number of English novels.
jieaplalevernjsleas) N0D TR FIEE TOTOWONTR), TN, BROXT. ROGRLODNTY, TR
mcﬁowbﬂd&d

[jo@owd@do«d 2,00 *-aé:)d TToWONYY , 388 T mn’ FRTEWONR Hor =0
E&0003AI.

Il &0D BTowdNY Fosd, esor} FToWONY Fo3NoS TR aiéagl as.

108. Which day is the fourteenth of a particular month ?
l. The last day of the month is a Wednesday.
@ Il. The third Saturday of the month was seventeenth.

ana-'agj SRRZPOTT acbmt%aie OF IR ?
I SnEE EeSoD OF Wk
Il. SnIE SweoTIe 3z520 1733m:t>mn§3

A
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Directions ! Q. No. 109 and Q. No. 110 : Consider the following diagrams. From the option
1,2, 8, 4 choose the diagram that best illustrates the set of items in each question.

©o01

092
©F

04 %
(1) Indicates that one thing (group) is within the other one, bu ird one is different.
2) Indicates that two things are contained in the third.

(
(3) Indicates that neither class is contained in the other corfiple ly but the two have common
members and are both contained in another clas

(4) Indicates that two are interrelated and the thnrd separate from the other two.

DTeF3[N B3 o023, 109 o) B R023,110: 333&3 ESSJ O30, odm oy 1,2,
3, 4 dow B3 50@9 DR e:soefn’e.# ""ab.fa E’"’ﬁ@@@édo\ﬂne 03D d’e&mué E:HJ
ﬁﬁ@?aﬁ@%ﬁ

oo
SO

Jeoor

(1) 2omd> == (Moo) aRRomdRYR 9, ©ud Rrededmd DYFTHETR BRURIZE.

(2) T d,\or{eu*a ab.radﬁcd)zﬂd@ m#ﬁmo@d&:@d&‘b RIS

(3) odnzd :Srird,p ROTPEF TN 'aa’uaocidﬂ) udﬁmoﬁ%@ “E8a0Ee RRBRZTT ﬁm‘%dﬁg{ BRODT)
) 20BN BRI FRF Be¥R wrnos dad)dd) RRURIT,

(4) adtzb Gilertel Nowoc;’:é;@mﬁd) 5302 BT faddr:é’aod TS, LT RRWRST,

9. Protons, Electrons, Atoms
TP, LTI, a@@gﬁbr{%, GA{oIRADLI S ateb)
110. Novelists, Poets, Books
@ PToWOFTI, B, PRI
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Directions : Q. No. 111 and Q. No..112 : In the questions below, two statements (A) and (B)
are given. These statements may be either independent or dependent causes or effects of
independent causes or of acommon cause. One of these statements may be the effect of the
other statement. Read both the statements and decide which of the following answer choices
correctly depicts the relationship between these two statements.

Mark answer (1) if statement (B) is the cause and statement (A) is its effect.

Mark answer (2) if both the statements (A) and (B) are independent causes.

Mark answer (3) if both the statements (A) and (B) are effects of independent causes.

Mark answer (4) if both the statements (A) and (B) are effects of some common cause.
NTCFTIND BB 083111 =R BB 503,112 89n3 g%ﬁ@q , DOR BewTRE(A) =03 (B)r{eddg{

QeRT. B TELIND T, TOOW TN QT TOIFLOW FTLRTINTLE R BT A, FO0w
0torts S ARRE P03 FOmRRENTER:. TN, LomimEedic: Rdnom Sewdr

TORDPOIRNE, SRR BEGENIR) 00 L) BN 033 u30 waly, a0 Beednd Smas

ﬁowodddg{ ROOIRN WZRZT0300Td Ve SemRFARLITNTD, :
Zewd (B) F0NTN =3 Bewd (A) ©T0 DRI 33 (1) @oxTN MOTSXE,
Bevs (A) O (B) 2330 AR, T T0eNeNTT u\g@owmn B30, |
Fevd (A) =02 (B) a0@e m oo motrd <o &mq}d S0FORR; (3) 20LSTRN RO,
Sev3(A) =03) (B) 20RR T RN, 9069 %ﬁ:ﬁ%ﬁ%& YUSTIO(4) 2020T5A RITIHSD.

111.  A. The health department ha ised people to drink boiled and filtered water and
maintain hygiene during ménsoon.

B. The health departmery instructed the civic hospitals to equip themselves with
adequate stock mediei
(W

nes during the monsoon.
A. dpen QURS3QR RBertd esﬁ@aﬂ:é)ﬂ%z@éaﬂﬁg{ BRORORLO T FHCWR BRERT Red)
&Y 0 ‘Q" '

T ReRT.
B. sdeen qwedletn Snomos RN ERD) BIORY TR BRI oSt BpodTITE

5°0 e:sﬁ_grf@ﬁ AT BT VeRT.

112. A. Though mobile phones find a good number of users in rural India, computers and
internet still remain a distant dream.

B. In the recent past there has been a large scale migration from the rural parts of

India to the urban sectors.

A. R0er tRUBHY, W od Hosd o) Hewer Ppea WYBRTOTR) FoRTR, Neadosdog
T L0BTROT WHECID VR, BATE B3R,

B. aets OINIY, 1mTEm myoers wpntors Dy BT, BRE TR BURCIRRT,
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113. Area of the shaded portion is

114.

115.

2cm

V/ﬂ”ﬂﬂllllﬂﬂﬂllﬂy/
. : -1 cm e ! /
| /IIIIIIIH!IIHIJHII! i

— e p— |
(1) 4sq.cm. qﬂ)’e sq. cm. (3) 8sq.cm. (4) 16sq.cm.
78 9T LN DRELIFTONTIHT

I

—>

W A @

€ 4 R0.808. ——=> O

(1) 423.50.20¢ (2) 6 3.30.a0e. (3) 8 @E (4) 1623.30.20¢.

How many triangles and parallelograms are th?ﬂp he given figure ?

NN &
P | Q}\f?”

@

(1) 21,17 (2) A8, (3) 21,15 \(‘(19, 17
douhs u3B0_ o) @%ﬂ@ RRmo3d R Eness 9

(1) 21,17 2) 19,13 (3) 21,15 (4) 19,17

In a class, Vidya ranks 7t from the top. Divya is 7 ranks ahead of Medha and 3 ranks
behind Vidya. Sushma who is 4'" from the bottom is 32 ranks behind Medha.
How many students are there in the class ?

52 (2 49 (3) 50 (4) 51
2,000 FONS0RY,, O, edN0T D¢3e FerdodOmed. O, SoegdAnos Db Ferd Sedms
2033 3 Berdodom), DB INRY. 8500008 SQSecdmeraNthes 208 32 3 erdodom, dhHerds
i lapRcletlovels] DT, DRRFROTT 7

* (1) 62 (2) 49 (3) 50 (4) 51
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116. A manis facing south. He turns 135° in the anticlockwise direction and then by 225°in
the clockwise direction. Which direction is he facing now ? ’
(1) East @y West (3) North (4) South
22 SO, 3803 532050 SRR, ©33135° TTEressON STOHN T3 F083225° Ca{a foonh)
SO, odnw Q37 R 851 &0 SRR ?
(1) Spze (2) wa (3) ev3s (4) Bggo

117. Directions : In the question, there is some relationship between the figures A and B.
The same relationship exists between the figure C and one of the four alternatives (1),
(2), (3) and (4). Choose that figure alternative. é

@ FHM-] S

A B C D A
THQIH <

(1) (2) (3) (4)
033 2000 BOWOHRT,. eszde Aowordsy) C =)

NBeESIN : B3 Tgobe, A'a.bé_.g B
(1).(2), (3), (4) =3riv 3¢ oanad 030 e . Rt & YRy g,

K4
——’ ®
—t) O—t—> ?
- N—
A B C D

v A
2| 2 ¥
4_|

(1) (2) 3) (4)

118. Ifin a code language ALTERNATE is written as ZOGVIMZGV and PERICARDIUM is
written as KVIRXZIWRFN, then how would CREDENTIAL be written in same code ?

(1) XIVMWVGRZO (2) XIUVUMWTRZO

(3) XIVMUGROZ XIVWVMGRZO :

2omd Roded ynziod>d) ALTERNATE HZOGVIMZGV en WBREEE %) PERICARDIUM )
KVIRXZIWRFN &N 2053m533, &5 CREDENTIAL s escie Roses eosh a5 eododonamhcds 9

(1) XIVMWVGRZO (2) XIUVUMWTRZO

(3) XIVMUGROZ (4) XIVWVMGRZO
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Directions for Q. No. 119 to Q. No. 123 : Read the following passages and answer the
questions that follow the passage. Your answers to these questions should be based on the

passages only.
Passage 1

Blood, a connective tissue, is a sticky fluid that has multiple functions. It transports oxygen,
nutrients and other solutes to cells; carries away metabolic wastes and secretions; and helps
stabilize internal pH. Plasma, red blood cells, white blood cells and platelets are its

components.

~ Plasma, which is mostly water, functions as a transport medium for Blood cells and platelets.
It also serves as a solvent for ions and molecules, including hu of different kinds of

plasma proteins. Some of the plasma proteins transport lipids m oluble vitamins through
the body. Others have roles in blood clotting or in defens pathogens. Collectively, |
the concentration of plasma proteins affects the bloo s@ volume, for it influences the -

movement of water between blood and interstitial fl

“They transport the oxygen used in
axide wastes. When oxygen diffuses into
g pigment that gives red blood cells their

Erythrocytes, or red blood cells, are biconcave, di
aerobic respiration and carry away some carb i
blood, it binds with hemoglobin, the iron-cobitai

hemoglobin, enzymes and oth ins to function for.about 120 days. At any time,
phagocytes are engulfing the % ed blood cells or the ones already dead, but ongoing
replacements keep the cell cquntfairly stable.

colour. ‘
Mature red blood cells no longer hav N ucleus, nor do they require it. They have enough
m%ofe

i arise from stem cells in bone marrow. They function in daily
e. Many patrol tissues, where they target or engulf damaged or.
hemically recognized as foreign to the body. Many others are massed

deadcellsanda
together in th nodes and spleen. There they divide to produce armies of cells that
battle specific viruses, bacteria and other invaders.

Leukocytes, or white bl
housekeeping and d

White blood cells differ in size, nuclear shape and staining traits. There are five categories :
neutrophils, eosinophils, basophils, monocytes and lymphocytes. The neutrophils and
monocytes are search-and-destroy cells. The monocytes follow chemical trails to inflamed
tissues where they develop into macrophages that can engulf invaders and debris. Two classes
of lymphocytes, B cells and T cells, make highly specific defence responses.

Some stem cells in bone marrow give rise to giant cells called megakaryocytes. These shed
fragments of cytoplasm enclosed in a bit of plasma membrane. The membrane-bound
fragments are platelets, which initiate blood clotting. Each platelet only lasts five to nine
days, but hundreds of thousands are always circulating in blood.

A
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119. The passage is primarily concerned with

(1) blood (2) blood circulation
the components of blood (4) blood functions

120. According to the passage, plasma is
(1) made up of ions and molecules
(2) a biconcave disc
(3) interstitial fluid

A mostly water
121. The red colour is given to blood by @ '
(1) oxygen . O
\,ﬁe}'i ron Q
(3) enzymes and other proteins «

(4) none of the above

122. The use of words such as ‘defense’, ‘patrol’; ies’ and ‘battle’ implies
(1) white blood cells can become uncen le
(2) phagocytes attack old red bloo
white blood cells serve as protection against invaders

(4) white blood cells are vio

123. Which of the following @gorrect T
A. Stem cells give Ji: eukocytes and megakaryocytes.

B. Thereis no in mature red blood cells.
(1) A only (2) B only
\J27 Both A an (4) Neither A nor B

124. The correctly matched combination of phobia and its meaning is
(1) Xenophobia-Fear of Darkness
(2) Entamophobia-Fear of germs
Venustraphobia-Fear of beautiful women
(4) Claustrophobia-Fear of crowds

125. Which of the following phrases is incorrect ?
(1) Pack of wolves q!)' Herd of bees
(3) Haul of fishes (4) Flock of birds
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